THEORY OF MECHANISM DESIGN - ASSIGNMENT 3

1. A seller is selling an object to an agent whose value (type) for the object lies in the
interval I = [0, 1]. The seller uses an allocation rule f : I — [0, 1] and a payment rule
p: I — R. Denote the mechanism (f,p) as M.

Fix an € € (0,1]. The mechanism M satisfies only a subset of incentive constraints:
for every ¢t € I and for every s € I such that |s —t| <€,

tf(t) —p(t) = tf(s) — p(s).

Show that M is dominant strategy incentive compatible. (10 marks)

2. Consider the usual combinatorial auction problem, but with a simpler valuation func-
tion called the “single-minded valuation”. The set of objects is M = {1,...,m}. Every
agent ¢ desires a bundle of objects S; C M. The private type of agent i is a single
number ¢;. An alternative in this model can be represented by the binary variables
x;(S) € {0, 1} satisfying some feasibility constraints, where x;(S) = 1 means bundle
S goes to agent ¢ and x;(.S) = 0 means bundle S does not go to agent i. Given an
alternative x, denote by u;(x) the indicator function whether agent i gets his desire in
x or not, i.e., p;(r) =1if 2;(S) =1 and S; C S and p;(z) = 0 otherwise. The value
function of agent 7 is given by 0;u;(x). Essentially, agent i realizes his value 6; if he
gets his desired set of objects.

(a) Suppose there are four agents {1,2,3,4} and three objects {a,b,c}. The desires
of agents are: Sy = {a}, S = {a,b}, S3 = {b,c}, and Sy = {a,c}. Suppose
0, = 7.0, — 8,05 — 2,0, = 10.

1. Find the efficient allocation.

ii. Find the payment in the VCG mechanism.

3. There are four agents N = {1,2,3,4}. There is a single indivisible object for sale.
Each agent ¢« € N gets a value v; € R, if he is allocated the object or agent (i + 1) is
allocated the object, where we maintain the convention that if ¢ = 4, then (i + 1) = 1.
Agent i gets zero value if any agent j ¢ {i,7 + 1} gets the object.

e Suppose the values of the agents are v; = 10,vy = 4,v3 = 7,v4 = 5. Who should
get the object according to the efficient allocation rule and what should be the
payment according to the VCG (pivotal) mechanism?



e Suppose we use the affine maximizer rule where we use a weight of \; = 1 for
i €{1,2} and A\; = 0.5 for i € {3,4}. Assume x(a) = 0 for all alternatives a.
Who should get the object according to this allocation rule? Describe a payment
consistent with a generalized Groves mechanism for this allocation rule.

4. Show that the Pivotal mechanism is the only Groves mechanism in the combinatorial
auction setting which implements the efficient allocation rule and where an agent pays
zero if his values for all bundles are zero.

Further, show that the Pivotal mechanism is the only Groves mechanism in the com-
binatorial auction setting which implements the efficient allocation rule, which is indi-
vidually rational, and where no agent is paid (i.e., payments are non-negative).

5. Consider the public good provision problem with alternatives ao (public good is not
provided) and a; (public good is provided). Assume that the value for aq is zero for
all the agents and the value for a; is 6; for agent . Consider the allocation rule that
chooses a; at a profile (6y,...,6,) if > ..y 6; > C, where C is the cost of providing the
public good, and chooses ay otherwise.

[lustrate the generalized pivotal mechanism as a generalized Groves mechanism (by
choosing appropriate h; functions) in this model.



